

* Trigonometric integrals:-

* products of sines and cosines:-

$$\int \sin^m x \cos^n x dx$$

Case 1: m and n are both odd.

Case 2: m is odd and n is even.

Case 3: m is even and n is odd.

Case 4: m and n are both even.

Case 1: find $\int \cos^3 x \sin^5 x dx$

we write m or n as $n = 2k + 1 \Rightarrow \cos^{2k+1} x = (\cos^2 x)^k \cos x$
and we use the identity $\cos^2 x = 1 - \sin^2 x$

Sol/

$$= \int \cos^2 x \sin^5 x \cos x dx \quad (\cos^2 x = 1 - \sin^2 x)$$

$$= \int (1 - \sin^2 x) \sin^5 x \cos x dx = \int (\sin^5 x - \sin^7 x) \cos x dx$$

let $u = \sin x$, $du = \cos x dx$

$$= \int (u^5 - u^7) du = \frac{u^6}{6} - \frac{u^8}{8} + C = \frac{\sin^6 x}{6} + \frac{\sin^8 x}{8} + C$$

Case 2: Find $\int \sin^3 x \cos^2 x dx$

we write m as $m = 2k + 1 \Rightarrow \sin^{2k+1} x = (\sin^2 x)^k \sin x$
and we use the identity $\sin^2 x = 1 - \cos^2 x$

Sol/

19A

$$\int \sin^3 x \cos^2 x \, dx = \int \sin^2 x \cos^2 x \sin x \, dx \quad (\sin^2 x = 1 - \cos^2 x)$$

$$= \int (1 - \cos^2 x) \cos^2 x \sin x \, dx = \int (\cos^2 x - \cos^4 x) \sin x \, dx$$

$$\text{let } u = \cos x, \, du = -\sin x \, dx$$

$$\Rightarrow \int (\cos^2 x - \cos^4 x) \sin x \, dx = -\int (u^2 - u^4) \, du = -\left(\frac{u^3}{3} - \frac{u^5}{5}\right) + C$$

$$= \left(\frac{u^5}{5} - \frac{u^3}{3}\right) + C = \frac{\cos^5 x}{5} - \frac{\cos^3 x}{3} + C$$

$$\text{Case 3: find } \int \sin^2 x \cos^3 x \, dx$$

we write $n = 2k+1 \Rightarrow \cos^{2k+1} x = (\cos^2 x)^k \cos x$ and we use the identity $(\cos^2 x = 1 - \sin^2 x)$

$$= \int \sin^2 x \cos^2 x \cos x \, dx \quad (\cos^2 x = 1 - \sin^2 x)$$

$$= \int \sin^2 x (1 - \sin^2 x) \cos x \, dx = \int (\sin^2 x - \sin^4 x) \cos x \, dx$$

$$\text{let } u = \sin x, \, du = \cos x \, dx$$

$$= \int (u^2 - u^4) \, du = \frac{u^3}{3} - \frac{u^5}{5} + C = \frac{\sin^3 x}{3} - \frac{\sin^5 x}{5} + C$$

$$\text{Case 4: find } \int \sin^2 x \cos^4 x \, dx$$

$$\text{we substitute } \sin^2 x = \frac{1 - \cos 2x}{2}, \, \cos^2 x = \frac{1 + \cos 2x}{2}$$

Sol/

$$= \int \frac{1 - \cos 2x}{2} \times \left(\frac{1 + \cos 2x}{2}\right)^2 \, dx = \frac{1}{8} \int (1 - \cos 2x)(1 + \cos 2x)^2 \, dx$$

$$= \frac{1}{8} \int (1 - \cos 2x)(1 + 2\cos 2x + \cos^2 2x) \, dx = \int (1 +$$

$$= \frac{1}{8} \int (1 + 2\cos 2x + \cos^2 2x - \cos 2x - 2\cos^2 2x - \cos^3 2x) \, dx$$

$$= \frac{1}{8} \int (1 + \cos 2x - \cos^2 2x - \cos^3 2x) dx$$

$$\int \cos^2 2x dx = \int \frac{1 + \cos 4x}{2} dx = \frac{1}{2} \int (1 + \cos 4x) dx$$

$$= \frac{1}{2} \int dx + \frac{1}{2} \int \cos 4x dx = \frac{1}{2} x + \frac{1}{2} \times \frac{1}{4} \int \cos 4x \times 4 dx$$

$$= \frac{x}{2} + \frac{1}{8} \sin 4x = \frac{1}{2} \left(x + \frac{1}{4} \sin 4x \right)$$

$$\int \cos^3 2x dx = \int \cos^2 2x \cos 2x dx = \frac{1}{2} \int (1 - \sin^2 2x) \cos 2x \times 2 dx$$

$$\text{let } u = \sin 2x, du = \cos 2x \times 2 dx$$

$$= \frac{1}{2} \int (1 - u^2) du = \frac{1}{2} \left(u - \frac{u^3}{3} \right) = \frac{1}{2} \left(\sin 2x - \frac{\sin^3 2x}{3} \right)$$

$$\therefore \int \sin^2 x \cos^4 x dx = \frac{1}{8} \left[x + \frac{1}{2} \sin 2x - \frac{1}{2} \left(x + \frac{1}{4} \sin 4x \right) - \frac{1}{2} \left(\sin 2x - \frac{\sin^3 2x}{3} \right) \right] + C$$

$$= \frac{1}{8} \left[x + \frac{1}{2} \sin 2x - \frac{1}{2} x - \frac{1}{8} \sin 4x - \frac{1}{2} \sin 2x + \frac{1}{6} \sin^3 2x \right] + C$$

$$= \frac{1}{8} \left[\frac{x}{2} - \frac{1}{8} \sin 4x + \frac{1}{6} \sin^3 2x \right] + C$$

$$= \frac{1}{16} \left[x - \frac{1}{4} \sin 4x + \frac{1}{3} \sin^3 2x \right] + C$$

* Eliminating square roots :-

we use the identity $\cos^2 x = \frac{1 + \cos 2x}{2}$

ex/ find $\int \sqrt{1 + \cos 4x} dx$

Sol/

$$\cos^2 \theta = \frac{1 + \cos 2\theta}{2} \Rightarrow 1 + \cos 2\theta = 2\cos^2 \theta, 2\theta = 4x$$

$$\begin{aligned} \int \sqrt{1 + \cos 4x} dx &= \int \sqrt{2\cos^2 2x} dx = \sqrt{2} \int \sqrt{\cos^2 2x} dx \\ &= \sqrt{2} \times \frac{1}{2} \int \cos 2x \cdot 2 dx = \sqrt{2} \times \frac{\sin 2x}{2} + C = \frac{\sin 2x}{\sqrt{2}} + C \end{aligned}$$

* Integrals of powers of $(\tan x)$ and $(\sec x)$

we use the identity $\sec^2 x - \tan^2 x = 1 \Rightarrow \tan^2 x = \sec^2 x - 1$

ex/ find $\int \tan^4 x dx$

Sol/

$$\begin{aligned} &= \int \tan^2 x \cdot \tan^2 x dx = \int \tan^2 x (\sec^2 x - 1) dx = \int (\tan^2 x \sec^2 x - \tan^2 x) dx \\ &= \int \tan^2 x \sec^2 x dx - \int \tan^2 x dx = \int \tan^2 x \sec^2 x dx - \int (\sec^2 x - 1) dx \\ &= \frac{\tan^3 x}{3} - \tan x + x + C \end{aligned}$$

ex/ Evaluate $\int \sec^3 x dx$ (we integrate by parts)

Sol/

$$\begin{aligned} &= \int \sec^2 x \cdot \sec x dx \quad (\text{let } u = \sec x, dv = \sec^2 x dx, du = \sec x \tan x dx \\ &\quad v = \tan x) \\ &= \sec x \tan x - \int \tan x (\sec x \tan x) dx \end{aligned}$$

$$= \sec x \tan x - \int \tan^2 x \sec x \, dx$$

$$= \sec x \tan x - \int (\sec^2 x - 1) \sec x \, dx$$

$$= \sec x \tan x - \int \sec^3 x \, dx + \int \sec x \, dx$$

$$2 \int \sec^3 x \, dx = \sec x \tan x + \int \sec x \times \frac{\sec x + \tan x}{\sec x + \tan x} \, dx$$

$$2 \int \sec^3 x \, dx = \sec x \tan x + \int \frac{\sec^2 x + \sec x \tan x}{\sec x + \tan x} \, dx$$

$$2 \int \sec^3 x \, dx = \sec x \tan x + \ln |\sec x + \tan x|$$

$$\therefore \int \sec^3 x \, dx = \frac{\sec x \tan x + \ln |\sec x + \tan x|}{2} + C$$

$$= \frac{1}{2} \sec x \tan x + \frac{1}{2} \ln |\sec x + \tan x| + C$$

* products of sines and cosines:- المنتجات من الجيب وجيب التمام

The integrals:

$$\int \sin mx \sin nx \, dx, \int \sin mx \cos nx \, dx, \int \cos mx \cos nx \, dx$$

we use the identities:

$$\sin mx \sin nx = \frac{1}{2} (\cos(m-n)x - \cos(m+n)x)$$

$$\sin mx \cos nx = \frac{1}{2} (\sin(m-n)x + \sin(m+n)x)$$

$$\cos mx \cos nx = \frac{1}{2} (\cos(m-n)x + \cos(m+n)x)$$

$$\sin mx \sin nx = \frac{1}{2} (\cos(m-n)x - \cos(m+n)x)$$

$$\sin mx \cos nx = \frac{1}{2} (\sin(m-n)x + \sin(m+n)x)$$

$$\cos mx \cos nx = \frac{1}{2} (\cos(m-n)x + \cos(m+n)x)$$

ex/ Evaluate $\int \sin 3x \cos 5x dx$

24A

Sol/

$$\begin{aligned}\sin 3x \cos 5x &= \frac{1}{2}(\sin(3-5)x + \sin(3+5)x) \\ &= \frac{1}{2}(\sin(-2x) + \sin 8x)\end{aligned}$$

$$\begin{aligned}\int \sin 3x \cos 5x dx &= \frac{1}{2} \int (\sin(-2x) + \sin 8x) dx \\ &= \frac{1}{2} * \frac{-1}{2} \int \sin(-2x) * -2 dx + \frac{1}{2} * \frac{1}{8} \int \sin 8x * 8 dx \\ &= \frac{1}{4} (-\cos(-2x)) + \frac{1}{16} (-\cos 8x) + C \\ &= \frac{1}{4} \cos(-2x) - \frac{1}{16} \cos 8x + C\end{aligned}$$